oquiar
L J Assembly Technology 5.33.01

Floor Elements

LA

Mounting Plate

ST BIEREIR

To attach leveling foot or castor to strut profile end.
HEHE ST S B%S 5 B Ik H

Material and Color: diecast zinc, sliver

MRFEE: #6868 RE

N
Cleanz
K Room

PG40-4040 PG40-4080 PG40-8080
PG45-4545 PG45-4590 PG45-9090 D

F C Fastening Set

ﬁ DAL
= zinc plated

M10—M6

Hole Reducer Bolt
nickel plated

Description b L1 L2 w1 W2 H | Fastening Set | Mass Part No.
IR (mm) | (mm) | (mm) | (mm) | (mm) | KEEH (i TS
Mounting Plate-PG40-4040
% B HEAR 40 R 514040 M12 40 40 30 30 4x(M6x20) 17 5.33.40.4040
Mounting Plate-PG45-4545
% B AR 45 B 514545 M12 45 45 33 33 4xFC 189 5.33.45.4545
Mounting Plate-PG40-4080 M12 217 5.33.40.4080.M12
g 80 40 40 2x(M14x25
2 BERER-40 22 51-4080 M16 ( ) 275 5.33.40.4080.M16
Mounting Plate-PG45-4590 M12 344 5.33.45.4590.M12
X B FEAR 45514590 M16 0 = = to | 2 T 553454590 M6
M12 582 5.33.40.8080.M12
Mounting Plate-PG40-8080
% BSR40 Z 51-8080 M16 80 80 40 40 4x(M14x25) 580 5.33.40.8080.M16
M20 577 5.33.40.8080.M20
M12 714 5.33.45.9090.M12
X BIEHEIR-45 5 51-9090 L U R x(M14x25)
M20 709 5.33.45.9090.M20

Modular Assembly System [ Modular Conveyor System | Stair and Platform System | Tubular Framing System | Machine Guard System [ www.moduasm.com
R T AR R BRMERS | TUBSREARS IR ARG HURBI IR R 5 AllRights Reserved




